UGC NET 2022 SOCIAL MEDICINE N COMMUNITY HEALTH

Topic:- 081_PARTA_S2

1)

The level of significance (p value) in a chi square test is 0.85. The null hypothesis in this case is

1. Rejected

2. Not rejected
3, Acceptied

4, Not accepied
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[Question ID = 3554][Question Description = 101_81_SMC_SEP22_S2_QO01]
1. 1 [Option ID = 14213]
2. 2 [Option ID = 14214]
3. 3 [Option ID = 14215]
4. 4 [Option ID = 14216]

2)
Which of the following is NOT true about retrospective cohort study?

1. The exposure and eutcome have already occurred at the time of study.,

2, The subjects are followed up from the point of exposure inthe very past to the point of outcome in
the more recent past,

3. The study is extended in the future.

4 1t differs from the prospective cohort study in which the cohort is defined on the basis of current

characteristics and followed forward intime.
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[Question ID = 3555][Question Description = 102_81_SMC_SEP22_S2_Q02]
1. 1 [Option ID = 14217]
2. 2 [Option ID = 14218]
3. 3 [Option ID = 14219]
4. 4 [Option ID = 14220]



3)
The numerator is NOT a part of the denominator in

1. Rate
2. Ratio
3, Proportion
4, Percentage
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[Question ID = 3556][Question Description = 103_81_SMC_SEP22_S2_Q03]
1. 1 [Option ID = 14221]
2. 2 [Option ID = 14222]
3. 3 [Option ID = 14223]
4. 4 [Option ID = 14224]

4)
The premise underlying epidemiology is that the disease is

1. Characteristics distributed in the population doesn't determinie the disease in the population.
2. Not randomly distributed in the population.

3, Distributed in the population by chance,

4, Distributed mainly by genetic transmission
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[Question ID = 3557][Question Description = 104_81_SMC_SEP22_S2_Q04]
1. 1 [Option ID = 14225]
2. 2 [Option ID = 14226]
3. 3 [Option ID = 14227]
4. 4 [Option ID = 14228]

5)
Primary prevention includes:

1. Reducing exposure to a risk factor
2. Screening for cancer

3, Giving ORS to a child with diarrhoea
4, Rehabilitation for stroke
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[Question ID = 3558][Question Description = 105_81_SMC_SEP22_S2_Q05]
1. 1 [Option ID = 14229]
2. 2 [Option ID = 14230]
3. 3 [Option ID = 14231]
4. 4 [Option ID = 14232]

6)
The most frequently-occurring number is called

1. Mean
2. Mode
3. Median
4, Range
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[Question ID = 3559][Question Description = 106_81_SMC_SEP22_S2_Q06]
1. 1 [Option ID = 14233]
2. 2 [Option ID = 14234]
3. 3 [Option ID = 14235]
4. 4 [Option ID = 14236]

7)
Long lasting imitative behavior that is mostly unconventional is defined as

Fad
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[Question ID = 3560][Question Description = 107_81_SMC_SEP22_S2_Q07]
1. 1 [Option ID = 14237]
2. 2 [Option ID = 14238]
3. 3 [Option ID = 14239]



4. 4 [Option ID = 14240]

8)
Which stage ef mites is the parasiticstage causing scrub typhus?

1.Egg
2. Larva

3, Pupa
4, Adult
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[Question ID = 3561][Question Description = 108_81_SMC_SEP22_S2_Q08]
1. 1 [Option ID = 14241]
2. 2 [Option ID = 14242]
3. 3 [Option ID = 14243]
4. 4[Option ID = 14244]

9)
How many diseases/conditions can a state identify for additional surveillance in IDSP?

1.Upto3
2. Upta3
3.Upta7
4, Any number
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[Question ID = 3562][Question Description = 109_81_SMC_SEP22_S2_Q09]
1. 1 [Option ID = 14245]
2. 2 [Option ID = 14246]
3. 3 [Option ID = 14247]
4. 4[Option ID = 14248]

10)
The 'Age Pyramid’ of developing countries is characterized by which of the following?

1. Narrow base and bulge in middle
2, Narrow base and broad at top

3. Broad base and broad at top

4, Broad base and tapering top
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[Question ID = 3563][Question Description = 110_81_SMC_SEP22_S2_Q10]
1. 1 [Option ID = 14249]
2. 2 [Option ID = 14250]
3. 3 [Option ID = 14251]
4. 4 [Option ID = 14252]

11)
Which of the fallowing statements is correct abeut difference betwveen cow's milk and breast milk?

1. Breast milk has a higher lipid content than cow’s milk

2, Breast milk has a lower carbohydrate content than cow's milk
3. Breast milk has lower protein content than cow's milk

4, Breast milk has higher calcium content than cow's milk
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[Question ID = 3564][Question Description = 111_81_SMC_SEP22_S2_Q11]
1. 1 [Option ID = 14253]
2. 2 [Option ID = 14254]
3. 3 [Option ID = 14255]
4. 4 [Option ID = 14256]

12)
The following are all natural family planning methods, except:

1. Cervical mucus method
2, Sympiothermic method
3. Breast feeding

4, Basal body temperature
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[Question ID = 3565][Question Description = 112_81_SMC_SEP22_S2_Q12]
1. 1 [Option ID = 14257]
2. 2 [Option ID = 14258]
3. 3 [Option ID = 14259]
4. 4 [Option ID = 14260]



13)
Which of the following is the emergency contraceptive provided free by the Department of Family

Welfare in India?

1. Mifepristone 10 myg
2, Levonorgestrel 0.75 mg
3, MALA D 2 tabs stat
4 MALA D 4 tabs stat
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[Question ID = 3566][Question Description = 113_81_SMC_SEP22_S2_Q13]
1. 1 [Option ID = 14261]
2. 2 [Option ID = 14262]
3. 3 [Option ID = 14263]
4. 4 [Option ID = 14264]

14)
Low birth weight baby is defined as one with a;

1. Birth weight less than 2.5 kg regardless of gestational age

2, Birth weight less than 2 kg regardless of gestational age

3, Birth weight less than 2.5 kg barm before 37 weeks of gestation
4. Birth weight less than 2 kg born before 37 weeks of gestation
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[Question ID = 3567][Question Description = 114_81_SMC_SEP22_S2_Q14]
1. 1 [Option ID = 14265]
2. 2 [Option ID = 14266]
3. 3 [Option ID = 14267]
4. 4[Option ID = 14268]

15)
The normal range of weight gairn in pregriancy in India is:

1.2-4kg
2.5-Tkg

3.9-11kg
4.12 - 14 kg
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[Question ID = 3568][Question Description = 115_81_SMC_SEP22_S2_Q15]
1. 1 [Option ID = 14269]
2. 2 [Option ID = 14270]
3. 3 [Option ID = 14271]
4. 4 [Option ID = 14272]

16)
Which committee recommended integrated services at the peripheral level by multipurpose workers,

male and female?

1. Shrivastav Committee
2, Kartar Singhs Committes
3, Mukerji Committee

4, Chadah Committee
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[Question ID = 3569][Question Description = 116_81_SMC_SEP22_S2_Q16]
1. 1 [Option ID = 14273]
2. 2 [Option ID = 14274]
3. 3 [Option ID = 14275]
4. 4 [Option ID = 14276]

17)
Broca Index can be calculated by

] Height {cm)
" Cibe root of body weight (kg)
Weight (kg)
" Height?(m)
3. Height{cm) minus 100
Actual Height
" Desirable Weight
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[Question ID = 3570][Question Description = 117_81_SMC_SEP22_S2_Q17]
1. 1 [Option ID = 14277]
2. 2 [Option ID = 14278]
3. 3 [Option ID = 14279]
4. 4 [Option ID = 14280]

18)
In which type of epidemic does one see a sharp rise and then a fall in the number of cases?

1. Propagated epidemic

2. Single exposure epidemic

3, Common source epidemic

4, Continuous expiosure epidemic
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[Question ID = 3571][Question Description = 118_81_SMC_SEP22_S2_Q18]
1. 1 [Option ID = 14281]
2. 2 [Option ID = 14282]
3. 3 [Option ID = 14283]
4. 4 [Option ID = 14284]

19)
Discovery of the Small pox vaccine is attributed to

1. Edward Jenner
2. James Lind

3. Edwin Chadwick
4, Robert Koch
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[Question ID = 3572][Question Description = 119_81_SMC_SEP22_S2_Q19]
1. 1 [Option ID = 14285]



2. 2 [Option ID = 14286]
3. 3 [Option ID = 14287]
4. 4 [Option ID = 14288]

20)
Which Committee worked towards: details of Basic Health Service which should be provided at every

block level?

1. Bhore Committse

2, Mudaliar Committee

3. Mukerji Committee

4. Kartar Singh Committee
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[Question ID = 3573][Question Description = 120_81_SMC_SEP22_S2_Q20]
1. 1 [Option ID = 14289]
2. 2 [Option ID = 14290]
3. 3 [Option ID = 14291]
4. 4 [Option ID = 14292]

21)
The suitable reasons for developing the National Health Policy, 2017 includes all, except

1. Growing burden of NCDs

2, Emergence of a robust healthcare industry

3. Implementing Millennium Development Goals-of the United Nations
4, High catastrophic health expenditure
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[Question ID = 3574][Question Description = 121_81_SMC_SEP22_S2_Q21]
1. 1 [Option ID = 14293]
2. 2 [Option ID = 14294]
3. 3 [Option ID = 14295]
4. 4 [Option ID = 14296]

22)
The best tool for strengthening primary healthcare is

1. Decentralized planning

2, Training of health workers

3, Enhancing number of doctors

4, Strengthening drug delivery system
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[Question ID = 3575][Question Description = 122_81_SMC_SEP22_S2_Q22]
1. 1 [Option ID = 14297]
2. 2 [Option ID = 14298]
3. 3 [Option ID = 14299]
4. 4 [Option ID = 14300]

23)
The Planning Commission was replaced by the NIT| Aayog mainly for:

1. Fostering cooperative federalisny

2. Making better five-year plans

3, Convergence of various sectors

4, Prioritising prablems through district bodies

it ST gRT wfeiie gremT S g Fafiiaa @ g e

1. Ge@N] 994G & Uieled

2, 37 99 991 g & A ed

3, fafd &3l & s g

4, STIG Tl g SEETT B A e o

[Question ID = 3576][Question Description = 123_81_SMC_SEP22_S2_Q23]
1. 1 [Option ID = 14301]
2. 2 [Option ID = 14302]
3. 3 [Option ID = 14303]
4. 4 [Option ID = 14304]

24)
The reparted doctor pepulation ratic per thousand population for the year 2018 in India is:
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[Question ID = 3577][Question Description = 124_81_SMC_SEP22_S2_Q24]
1. 1 [Option ID = 14305]
2. 2 [Option ID = 14306]
3. 3 [Option ID = 14307]
4. 4 [Option ID = 14308]



25)
Under the Sustainable Development Goals (SDG) Goal 3, several indicators have been proposed. Which

one among the following is a coverage indicator and not an impact indicator?

1. Adolescent birth rate

2, Births attended by skilled health personnel
3, Neonatal mortality

4, Under-five mortality

oo [AHY 058 (TF o1 o) & ©&d 3 3fid [l Sgu® Uedlidd o | HEkigd H 9 @19 91 i 9ao 6, 9
F T gED 7

. PIR e TE =

2. HUE Wy ST gRIUEa
3. 9994 59

4. 9Tg a4 ¥ &Y g1 B 9g

[Question ID = 3578][Question Description = 125_81_SMC_SEP22_S2_Q25]
1. 1 [Option ID = 14309]
2. 2 [Option ID = 14310]
3. 3 [Option ID = 14311]
4. 4 [Option ID = 14312]

26)
Which among the following is a type of deep well in which the water rises above the level of ground

water, because it is*held under pressure between two impervious strata?

1. Artesian well
2. Bore well
3. Dug well
4, Step well

FRiEd 5 € @ 9 e} 34 &1 WHR ¢ [aad oo HIHTTd Siowor 4 352 86 &Il & qulie 98 ol HURITE
TR G AU gEE H oidl &

1. HAfeE- ga

2. 8Ra

=3.35_7T?ﬁf
4, W ad

[Question ID = 3579][Question Description = 126_81_SMC_SEP22_S2_Q26]
1. 1 [Option ID = 14313]
2. 2 [Option ID = 14314]
3. 3 [Option ID = 14315]
4. 4 [Option ID = 14316]



27)
Safe yield of a source of water is defined in terms of the years in future it will be sufficient to serve the

pepulation, and adequency of supply in the year. Which of the following best represents the eriteria for

safe yield of a source of water?

1.5 to 25 years in future; 90% of the year
2,5 to 25 years in future; 95% of the year
3. 10 to 50 years in future; 90% of the year
4,10 1o 50 years in future; 95% of the year
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[Question ID = 3580][Question Description = 127_81_SMC_SEP22_S2_Q27]
1. 1 [Option ID = 14317]
2. 2 [Option ID = 14318]
3. 3 [Option ID = 14319]
4. 4 [Option ID = 14320]

28)
Which of the following is considered as an adequate supply of water per capita per day, for rural areas in

India?

1. 20 litres
2,40 litres
3, 60 litres
4, 80 litres
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[Question ID = 3581][Question Description = 128_81_SMC_SEP22_S2_Q28]
1. 1 [Option ID = 14321]
2. 2 [Option ID = 14322]
3. 3 [Option ID = 14323]
4. 4 [Option ID = 14324]



29)
Overcrowding refers to thesituation in which mere pecple are living within a single dwelling than there is

space for. Which one among the following is not the accepted standard of overcrowding?

1. Floor space

2, Kitchen separation
3. Persons per room
4, Sex separation
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[Question ID = 3582][Question Description = 129_81_SMC_SEP22_S2_Q29]
1. 1 [Option ID = 14325]
2. 2 [Option ID = 14326]
3. 3 [Option ID = 14327]
4. 4 [Option ID = 14328]

30)
A protein is said to be "biologically complete” if it contains all the essential amine acids in amounts

correspending to human needs. Which among the following can be considered to be the most

"biglogically complete”?

1. Coconut
2.Egg

3. Pomegranate
4, Soyabean
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[Question ID = 3583][Question Description = 130_81_SMC_SEP22_S2_Q30]
1. 1 [Option ID = 14329]
2. 2 [Option ID = 14330]
3. 3 [Option ID = 14331]
4. 4 [Option ID = 14332]



31)
Indicator used to choose an intervention that is cheaper and more effective amongst available

alternatives is

1. Opportunity Cost

2, Incremental Cost

3. Incremental Cost Effectiveness ratio
4. Marginal Cost

Juae @l § © O AR @ JUEl 9 (3e3d9H) 9949 & (o8 SUanT Jad HRad 6 ;

[Question ID = 3584][Question Description = 131_81_SMC_SEP22_S2_Q31]
1. 1 [Option ID = 14333]
2. 2 [Option ID = 14334]
3. 3 [Option ID = 14335]
4. 4 [Option ID = 14336]

32)
Nation Quality Assurance Standards (NQAS) are developed by

1. National Health Systems Resource Centre

2, Public Healih Foundation of India

3. National Accreditation Board for Hospitals and Health Care Providers
4, Quality Council of India
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[Question ID = 3585][Question Description = 132_81_SMC_SEP22_S2_Q32]
1. 1 [Option ID = 14337]
2. 2 [Option ID = 14338]
3. 3 [Option ID = 14339]
4. 4 [Option ID = 14340]

33)
All of the following statements regarding Focus Group Discussion (FGD) are true, EXCEPT ONE:

1.1t is commonly used insocial marketing.

2.1t gives information on the magnitude of the problem.

3, It can identify needs related to Behaviour Change Communication.

4, Participants need o be members of a homogenous group in the same FGD,
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[Question ID = 3586][Question Description = 133_81_SMC_SEP22_S2_Q33]
1. 1 [Option ID = 14341]
2. 2 [Option ID = 14342]
3. 3 [Option ID = 14343]
4. 4 [Option ID = 14344]

34)
Gross National Product (GNP) plus Indirect taxes minus the Consumed capital as well as Subsidies gives

1. GDP at market price
2, GNP at market price
3. NNP at market price
4, Purchasing Power Parity
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[Question ID = 3587][Question Description = 134_81_SMC_SEP22_S2_Q34]
1. 1 [Option ID = 14345]
2. 2 [Option ID = 14346]
3. 3 [Option ID = 14347]
4. 4 [Option ID = 14348]

35)
The Influenza pandemic was caused due to

1. Antigenic shift

2, Antigenic drift

3, Bite of the Aedes mosquito
4, Water contamination
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[Question ID = 3588][Question Description = 135_81_SMC_SEP22_S2_Q35]
1. 1 [Option ID = 14349]
2. 2 [Option ID = 14350]
3. 3 [Option ID = 14351]



4. 4 [Option ID = 14352]

36)
The major factors influencing peor health eutcomes in developing countries are all, except:

1. Dactors, nurses and midwife,

2, Skill imbalanice and poor work epvironment.
3. Maldistribution and migration.

4, Good knowledge and work environments.
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[Question ID = 3589][Question Description = 136_81_SMC_SEP22_S2_Q36]
1. 1 [Option ID = 14353]
2. 2 [Option ID = 14354]
3. 3 [Option ID = 14355]
4. 4 [Option ID = 14356]

37)
The best practices of AYUSH in lecal health traditions are promoted by Government of India by all the

following activities, except

1. Training AYUSH practitioners on SBA, IUCD insertion and RMNCH
2, Establishing independent AYUSH hospitals at the district level

3, Pramoting AYUSH GRAM

4, Clinical Research on AYUSH medicines
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[Question ID = 3590][Question Description = 137_81_SMC_SEP22_S2_Q37]
1. 1 [Option ID = 14357]
2. 2 [Option ID = 14358]
3. 3 [Option ID = 14359]
4. 4 [Option ID = 14360]

38)
Action-oriented research includes:all, except

1. Pramotion of use of ORS in diarrhoea.

2, Pramotion of early use of antibictics in diarrhoea,

3. Providing low-cost sanitary latrines.

4, Popularization of sanitary activities invelving community leadets.



forar-ey =iy & Fpfoied F § s afa e & 7

1. AR IF1 H 313N EH. & WGF 5] Uieded oo

2, ferER I 3§ uieriie ! & 3y UEN & Wi ol

3, FFH TR H WS YdIad UaH o

4, YGRS i ] Hiicd S taasdl o Taiaiedl @ aimimg g3

[Question ID = 3591][Question Description = 138_81_SMC_SEP22_S2_Q38]
1. 1 [Option ID = 14361]
2. 2 [Option ID = 14362]
3. 3 [Option ID = 14363]
4. 4 [Option ID = 14364]

39)
The National [nstitute of Health and Family Welfare, under the MOHFW serves as an apex

training institute for in-service candidates. The similar structure at the state level is the

. State Institute of Health and Family Welfare
. State Health System Resource Centre

. State Program Management Unit

. State Health Society

B S T S R

TH, 3. U9, UP.S%q & S U9 WRY T URAR HediYl §YH U WY WRE R ¥9 H HaRd
T & T 1 Bl &

ol TR R 500 gaq@ dR aTeid e 7

1, T8 e d UGN Gogul 9=
2, T T Ul S $E
3,3 BUPH UeR@E 3y

4, 350 @A e

[Question ID = 3592][Question Description = 139_81_SMC_SEP22_S2_Q39]
1. 1 [Option ID = 14365]
2. 2 [Option ID = 14366]
3. 3 [Option ID = 14367]
4. 4 [Option ID = 14368]

40)
Which of following statements is NOT true about Institutional Ethics Cemmittee?

. Members include doctors, lawyers, sotial scientists and lay persans.
. Follows the principles of beneficience and non-maleficence.
. Consent form not mandatory in community surveys.

S 0 T W

. Member secretary screens the proposals for full review.

TurE R o e i d e g e s w sy ga A 8 7

1. Faw | fews, god 9919 a9libe SR 9E o 9ied 8l &
2, SHpHIaY g 977 gfaisiagy & Ggial &1 e @

3. rGIh® Hago ¥ geHid i AHad Agl eidi g

4. G5 Oig Ul @1 Sigal &

[Question ID = 3593][Question Description = 140_81_SMC_SEP22_S2_Q40]



1 [Option ID = 14369]
2 [Option ID = 14370]
3 [Option ID = 14371]
4 [Option ID = 14372]

A W N =

41)
Vocational Dimensien of health relates to

A acceptance of stressors and feelings

B, ability to manage one's feelings

C, self-realization

D. growth and happiness in one's work

Choose the correct answer from the options given below:

1.4 and B enly
2.Cand Donly
3, B and C only
4 A and Caonly

W & AGHIae H FHEfaied ¥ Fsud 8
A, FETHT Od HigIS @ i

8, forelt @t wia1 @1 HTer @) e

C. ST

D. feht & ol oS vd e

7d fou 7Te faped] 4 § U8 Sw g ;

1. Fad A R B
2, FEAC D
3, FHAAR ARC
4, FIAA ARC

[Question ID = 3594][Question Description = 141_81_SMC_SEP22_S2_Q41]
1. 1 [Option ID = 14373]
2. 2 [Option ID = 14374]
3. 3 [Option ID = 14375]
4. 4 [Option ID = 14376]



42)
‘Demaographic burden’ connotes which af the following 7

A, Increase in total dependency ratio during any peried of time,
B. Caused only by increase in old age dependency ratio.

C. Caused only by increase in young age dependency ratio.

D. It-is an inevitable consequence of 'demographic transition’.
Cheose the correct answer from the options given below;

1.4 and Conly
2.B and Conly
3,B and D only
4 Aand D anly

SIS WY @ Hafcad § § /] A9 e 7

A, fodl Hi wrenaf @ eRE o FRal oge H alg
B. Shae] gIae (Rl U H df & SRl

C. shaci ga] g Al SfHuId H dfg & HRY

D. T8 SHIRSIE I HeAT @1 e g 8

e fu e fowed! 9 4 W S T ;

1. @A ANC
2, FEAB AR C
3, FIABARD
4, FAA A RD

[Question ID = 3595][Question Description = 142_81_SMC_SEP22_S2_Q42]
1. 1 [Option ID = 14377]
2. 2 [Option ID = 14378]
3. 3 [Option ID = 14379]
4. 4 [Option ID = 14380]

43)
Index case refers to

A, First case of a communicable disease introdueed into the population unit being studled.
B. First case to come to attention of investigator,

C. Develeping from contact with primary case.

D. It-is not always the primary case.

Cheose the correct answer from the options given below;

1.4 and B enly
2.Cand Donly
3,B and D only
4 Aand D anly



T® T (Go0d o) 9ed o ;

A, SO 33 1 3T fhdl S aral Yar I & Uedl T
B. 3{<INe o I H SHAHaTen Ygal Hie

C. Ut i o WU 3 fashid g aral

D. T §ea WS 73w A8 el &

7 74U T fadbed] 5 & Wel S7R 4 ;

1.aAA AT B
2, HFAC IRD
3, FAA B ARD
4, FIAA AND

[Question ID = 3596][Question Description = 143_81_SMC_SEP22_S2_Q43]
1. 1 [Option ID = 14381]
2. 2 [Option ID = 14382]
3. 3 [Option ID = 14383]
4. 4 [Option ID = 14384]

44)
Sympasium includes

A, Series of speeches by experts

B, On a selected topic

C. Discussion among speakers

D. Mederator is present

Choose the correct answer from the options given below:

1.4 and B only
2,Cand D only
3. A and D anly
4 B and D only

ufedare # TfE e &

A, [aersT & Sare @ 4@

e | TARBL s R T s B |

C. gt & He gRaa

D. HeTed (AIS¥ER) QUi gl &
e g 0 faped! & S W S g

1.aAA AT B
2, HFAC IRD
3, FAAA SRD
4, FFABAND



[Question ID = 3597][Question Description = 144_81_SMC_SEP22_S2_Q44]
1. 1 [Option ID = 14385]
2. 2 [Option ID = 14386]
3. 3 [Option ID = 14387]
4. 4[Option ID = 14388]

45)
Which among the following are a part of the definition of safe and wholesome water?

A, Free from pathogenic agents

B, Free from harmful chemical substances

C. Usable for industrial purposes

D. Available at optimum temperature

Choose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3. B and D only
4, 4 and D only

fafaRad | | &1 - 7 W& SR Wregayd o &1 U 6] 4T 8 7
A, TTHE® golel § Ha

B, BIF®R® THEFE UaHl | 95

C. e Je=al & o wai & 4

D. SPH a9 UX JYTe

74 fau 7T¢ famedl 3 § 98 Ik 9 ;

1. ad A AR B
2. FEABIARC
3, FIABAND
4, FFAAAND

[Question ID = 3598][Question Description = 145_81_SMC_SEP22_S2_Q45]
1. 1 [Option ID = 14389]
2. 2 [Option ID = 14390]
3. 3 [Option ID = 14391]
4. 4 [Option ID = 14392]



) The sanitary guality of tank water as a source of safe water, can be increased by which among the
fallowing?
A. The edges of the tank should be elevated
B. A platform at a lower level from where people can draw water
C. Tank should be cleaned at the end of the wet season
D. The weeds should be periodically removed

Choose the correct answer from the options given below,

1.4 and B only
2,4 and D only
3. B and Conly
4. Cand D only

2% & o] &) Taeval YaH! ol @ FRiiad 3 9 e gR1 g & bdl & ?
A EF & PRI 31 Sa1 So1a ol 96T

B, T @1 UIH1] ©iH & e Fierel Tk WX Wi &l

C. 3% HIGH @ A% 0T ¢ @] 918 &l aled

D. TR IR &1 GEite ¥4 U Sels $I 9] dliel

e fou T faded! & & R Sw A -

1.aAA AT B

2. 9599 A SR D

3, FAABIARC

4, FFAC D
[Question ID = 3599][Question Description = 146_81_SMC_SEP22_S2_Q46]
1. 1 [Option ID = 14393]
2. 2 [Option ID = 14394]

3. 3 [Option ID = 14395]
4. 4 [Option ID = 14396]

47)
Commeonly used Heat Stress indices include which among the following?

A. Equatorial Comfort Index

B. Tropical Comfort Index

C. Predicted One Hour Sweat Rate

D. Predicted Four Hour Sweat Rate

Choose the correct answer from the options given below;

1.4 and C only
2.Band D only
3. A and D anly
4,B and Conly



¥ X U §EIe [BU 9 dict 381 516 Yamit] J HHiiad H 4 &1 - 31 He 8 7

D. QaiHId 91 Hel Wa a¥
i fgu e famedl @ € 98] SoR 9

1. A ARC
2. FEA B ARD
3, HIAA AND
4, FIARARC

[Question ID = 3600][Question Description = 147_81_SMC_SEP22_S2_Q47]
1. 1 [Option ID = 14397]
2. 2 [Option ID = 14398]
3. 3 [Option ID = 14399]
4. 4 [Option ID = 14400]

48)
Which of the statements regarding the indices about obesity are correct?

A, Ponderal index is calculated at the height in centimeters divided by the square of the weight in
kilogram,

B. Broca index stipulates that the ideal body weight (kg) = height (incm) - 100

C. Corpulerce index is calculated by actual weight (kg) divided by ideal weight (kg)
D. BMI is calculated by height in meters divided by the weight in kilegram,

Choose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3, Cand D only
4 Aand Danly



A dal (Fee s AR A FE A U e U B T & 7

A, UISTe Yadie ® T0H] H daTs @1 [haidrd § gud o ot o [aHITed % @) ol &

B. HIT Gud D & U e ARG YR (5.7 = ars (@) - 100

C. ST GEPI® ®1 0H] aria® YR (6.2 B Hes UR () § Ty s @1 9wl &
D. STHSHTE ®1 TUAT Hiex H wiars &l e F 4R ¥ fauifod &2 &1 ol §

e fou e fawed! 7 4 W1 S T ;

1. Paa A HTB
2. FaARARC
3, FIAC IR D
4, FFAAAND

[Question ID = 3601][Question Description = 148_81_SMC_SEP22_S2_Q48]
1. 1 [Option ID = 14401]
2. 2 [Option ID = 14402]
3. 3 [Option ID = 14403]
4. 4 [Option ID = 14404]

49)
Which of the fallowing statements about disinfection are true?

A It destroys all forms of microbial life

B. It eliminates many of all pathogenic:microorganisms except bacterial spores

C. The objective is to cut or reduce the links in the chain of spread of communicable diseases
D. Steam autoclaves or hot air ovens are normally used for disinfection

Choose the correct answer from the options given below;

1.4 and B enly
2,Cand D only
3. A and C only
4,B and D only

A & Uey d Fotfad H oA ey wel 8 7

A, T8 QETSae Sia & Gaw &4 & 350 ol ol &

8. T Sar] ST B ATy WH A $s ATe® Geedl B SeH B el g
C. SUD] 3520 & AR ATl & Barg $I SGeh & [ed] B Ble] Hal DT DAl

D. HiT H2 (a1 2Yd] ISEM e & gyl fadwae @ foe wEr fear S 8
e w0 fomed! & S W S g :

1. Paa A HTB
2, HFAC IND
3, BIAA ARC
4, FFABARD



[Question ID = 3602][Question Description = 149_81_SMC_SEP22_S2_Q49]
1. 1 [Option ID = 14405]
2. 2 [Option ID = 14406]
3. 3 [Option ID = 14407]
4. 4 [Option ID = 14408]

50)
p value = 0.05 i.e less than or equal to 5% means (five percent)

A, We reject the null hypothesis

B, The difference we have observed between the 2 samples is by chance
C. The difference we have observed between the 2 samples is real

D. We accept the null hypothesis

Choose the correct answer from the options given below;

1.4 and B enly
2.Cand D only
3. A and C only
4,Band D only

PHM = 0.05 YUl 5% ® FHF HUdl &H &iH B HY B ;
A. B RISV Wi eiu-] 1 SREImR B &

8. 2 Jual & ST T R YO @l 9 8

C. 2 Y H €W T S aiia &

D. B RIS Wiy @l WIeR & &

i g e faded! 5 & 981 9ok 4 -

1. ad A AR B
2. &ad C 3R D
3, FAAA ANC
4, FIABARD

[Question ID = 3603][Question Description = 150_81_SMC_SEP22_S2_Q50]
1. 1 [Option ID = 14409]
2. 2 [Option ID = 14410]
3. 3 [Option ID = 14411]
4. 4 [Option ID = 14412]



51)

The following statements regarding the Chi square test are correct

A, Used for determining statistical significance of the association between two discrete variables
B. Degree of freedom is (rows - 1) ¥ (column - 1)

C. Degree of freedom is (rows x celumns) - 1

D. Used for statistical association between two means.

Cheose the correct answer from the options given below;

1.4 and B enly
2.Cand Donly
3,A and Conly
4 B and D only

@3 W & ey H T dH e e Sy Eei e ?

A, B gy R & s1d D UHITHTIH D1 HileI® g Jel & (o8 Waad
B. ¥aqAal &l S8 (dfed - 1) x (@EE - 1) 8

C, Woadl F1 (¥ (@ied x Blad) - 18

D. &1 A1e & ol HifeTaig CHITHeH & o wged

74 TG U faed] 5 § 98l 3R 9 ;

1. @aT A AR B
2, FaACIRD
3, FIAAARC
4, FAARARD

[Question ID = 3604][Question Description = 151_81_SMC_SEP22_S2_Q51]

1.1
2.2
3.3
4. 4

52)

[Option ID = 14413]
[Option ID = 14414]
[Option ID = 14415]
[Option ID = 14416]
Deprivation Index by Government of India (2008) uses which of the following indicators?
A, Adult members illiterate
B. Eligible children staying out of school
C. Lack of access to basic health services
D. Belonging to specific caste categories

Cheose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3.C and D only
4 Aand Danly



YRT TR & a0 gadio (2008) J FEfaRad Gao! o Suam e mrar
A, T Had el

8. URE=! &l ¥pal = YT

C. e R Uar 31 s

0. forefl fafay of &°f & g €

Fe fgu T Aol B W S O ;

1.aAA AT B
2. FFARARC
3, &ad C 3R D
4, FFAA AND

[Question ID = 36051Question Description = 152_81_SMC_SEP22_S2_Q52]
1. 1 [Option ID = 14417]
2. 2 [Option ID = 14418]
3. 3 [Option ID = 14419]
4. 4 [Option ID = 14420]

53)
Latent tuberculosis can be detected by

A, Tuberculin skin test

B. CBNAAT

C. Interferon gamma release assay

D. Chest X-ray

Choose the correct answer from the options given below:

1.4 and C anly
2,Band D only
3. A and D anly
4 B and C only

T GEH qUie® DI Rl H [ & gl Ul STl o §odl ¢ ?
A, TEFgIcH a1 Elid

B.@idIGATEd

C. 321 T ae ol

D.UR BT 1

Fe fgu T Aol B W S O ;

1.BaA A AR C
2, FFABARD
3, FAAA SR D
4, FEAR ARC



[Question ID = 3606][Question Description = 153_81_SMC_SEP22_S2_Q53]
1. 1 [Option ID = 14421]
2. 2 [Option ID = 14422]
3. 3 [Option ID = 14423]
4. 4[Option ID = 14424]

54)
Which of the following statements about isolation are correct?

A, Done for persens who have come in contact with a diseased person or has passed through an endemic
place.

B. Done for persons who have clinical {signs/symptoms) or laboratory confirmation or suspicion of
disease,

C. Done for a pericd which is equal to the maximum known period of communicability of the disease.
D. Done for a period which is'equal to the maximum known incubation period of the disease.
Choose the correct answer from the options given below;

1.4 and C anly
2.B and Conly
3. B and D only
4, A and D only

TR & Uy H e e § e Tel § 7

A, 39 oafdeal & forg fae e & off fopel IRT & o & o §1 Ay fos T8 397 uifae & 4 o1 81
8, T Sufaal & fone foo el & o 7T o1 foeriaas 1 (Giyon) SieiaT W RTeaTal OfF ol i ol

C. T oraftl & g v ot & o o O & WAty $1 Amad §d Al & aue 8l

D. T 3{af¥] & Tog T i1 € Wil Gat 71 1 Sala Bl Hiumad Fd faid & &R ol

e fou e fawed! 7 4 W1 S T ;

1. A A HNC
2. FaARARC
3, FIABARD
4, FFAAAND

[Question ID = 3607][Question Description = 154_81_SMC_SEP22_S2_Q54]
1. 1 [Option ID = 14425]
2. 2 [Option ID = 14426]
3. 3 [Option ID = 14427]
4. 4 [Option ID = 14428]



55)
Which of the following is the channel of transmission of communicable disease by the direct method?

A, By droplet nuclei

B. By fomites as items of personal use

C. Vertical transmission frem mather to child

D. Contact of skin or mucous membrane with the agent contained in inanimate environment
Cheose the correct answer from the options given below;

1.4 and B enly
2.Cand Donly
3,A and Conly
4 B and D only

R e e s e GR R Eean G @b - § S0 e ?
A, SIwie ARy
B, 3ufad® UAIT @) 96l gRT
C. |l 4 1% a9 3 HaRy
D. e gfvaw § gfafed veie € o a e e @ 9ud
I umu faead 5 € O I 9 -

1. FaT A R B

2. FEAC AR D

3. FAAASMRC

4 HIABEARD

[Question ID = 3608][Question Description = 155_81_SMC_SEP22_S2_Q55]
1. 1 [Option ID = 14429]
2. 2 [Option ID = 14430]
3. 3 [Option ID = 14431]
4. 4 [Option ID = 14432]

56)
Which of the following statements regarding Gestational Diabetes are correct?

A, Develops during pregnancy and continues after giving birth:

B. Women developing the condition are at increased risk of type 2 diabetes mellitus in future,
C. Leads to an increased risk of birth defects and stillbirths.

D. Develops most commonly in first trimester.

Cheose the correct answer from the options given below;

1.C and D only
2. A Band Conly
3, B and Conly
4 A CandDonly



AT HYEE & ey H FRfed H U s 4 Y el 6 ¢

A, a1 & SR G Rid Bl § 3R 57 & & 915 WIRI <@l &

8. 34 fufa T o afgaeit &1 wiawy § 215y 2 oede Aty &1 s G el o
C. 399 S G AR Gaed 31 e Gad gl 8

D. e T 1 HuH AR & SR Ao Bl §

3 R T el B W R

1.6aA C 3D
2. FFAA B AR C
3, FAABIARC
4, FaAA CHRD

[Question ID = 3609][Question Description = 156_81_SMC_SEP22_S2_Q56]
1. 1 [Option ID = 14433]
2. 2 [Option ID = 14434]
3. 3 [Option ID = 14435]
4. 4 [Option ID = 14436]

57)
Which of the following statements regarding "Home Delivery of Contraceptives’ are true;

A, ASHAs deliver contraceptives at the doorstep of the beneficiaries.

B, The contraceptives are deliverad free of cost,

C. Nominal amount is charged for the contraceptives from the beneficiaries.

D. Anganwadi workers deliver contraceptives at the doorstep of the beneficiaries.
Choose the correct answer from the options given below,

1.4 B and C only
2,A and Conly
3. A Cand D only
4 Aand B only

T Pt 1 B fediad] & gdy f afefea S 4 e 4 s w1 5
A, ST SEH arHITdE! & 9 o e T PRI @ fSefiad] el §

8, ¥ FRIY®! @1 e fSaiad &1 9l &

¢ 7 PRI & oe e it & S &1 00 o S 8

D. SHTHaTS] F®al arHifiat & 9 S 7 Five! o) Sdie e B
e fou e fased! 7 4 1 SW T ;

1.aAA, B AR C
2. FFAAARC
3, &FAA A, DIRC
4, FaAA ANB



[Question ID = 3610][Question Description = 157_81_SMC_SEP22_S2_Q57]
1. 1 [Option ID = 14437]
2. 2 [Option ID = 14438]
3. 3 [Option ID = 14439]
4. 4 [Option ID = 14440]

58)
The disease caused by deficiency of the vitamin Niacin is characterized by which all ameng the follewing?

A, Dermatitis
8. Diabetes

C. Dementia
D. Deafness-

Choose the correct answer from the options given below;

1.4 and B enly
2.B and D only
3. A and C only
4,Cand D only

oy e &1 4 & eRu FREad S @ g e g 7
A, @Sy

B. HYHE

C. FAyE

D. ST

74 T4 1 faed] 5 8 98l SR 9 ;

1. ad A AR B
2. FEA B ARD
3, FAAA ANC
4, FFAC IND

[Question ID = 3611][Question Description = 158_81_SMC_SEP22_S2_Q58]
1. 1 [Option ID = 14441]
2. 2 [Option ID = 14442]
3. 3 [Option ID = 14443]
4. 4[Option ID = 14444]



59)
A pregnant weman presented to you for antenatal checkup. You measured the blood pressure and

checked her urine for the presence of albumin. Which among the following are indicative of imminent
eclampsia and require urgent referral to First Referral Unit (FRU)T

A, Systolic blood pressure above 150 mm Hg

B, Diastalic blood pressure above 110 mm Hg

C. Bilateral pedal-cedema

D. Presence of albumin in urine (strangly positive)
Choose the correct answer from the options given below;

1.4 and B enly
2.A and Conly
3. B and Conly
4,Band D only

uw Tad! Bfge od uad §id & o 11 8| ST aadTy 3] UE E U @1 e eid 5| SE 4 o
o1 S TG ®1 9% § AR gia U SR 4 H Yhee & disd

A. 150 TH B T ol § 3{19% [Giitie vod 91
B.110 TH UH U ol ¥ iU SHEii® Yad 91
C. &Ml IRl H o (argciess Usa 3isH)

D. U2d H Uegit &1 Syiedfd

7d fou 7Te faped] 4 § U8 Sw g ;

1. Fad A R B
2. FAAANC
3, FAAR ARC
4, FFABARD

[Question ID = 3612][Question Description = 159_81_SMC_SEP22_S2_Q59]
1. 1 [Option ID = 14445]
2. 2 [Option ID = 14446]
3. 3 [Option ID = 14447]
4. 4 [Option ID = 14448]



60)

Identify the priority areas of Naticnal Health Pelicy, 2017 frem the following
A, Yatri Suraksha

B. Nirbhay Nari

C. Sanitation

D. Environmental pollution

Cheose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3, C and D only
4 Aand D anly

frafaied # 9 U oy Hifd - 2017 & Wi &7 1 gga @i ;
A, T GRa

B. [ A

C. Tl

D. ggiaeiig ugyu

el Tou e fased] 5 § 81 99 9 ;

1. @aT A AR B
2, FEAB AR C
3, HIAC D
4, FAA A RD

[Question ID = 3613][Question Description = 160_81_SMC_SEP22_S2_Q60]

1.1
2.2
3.3
4. 4

61)

[Option ID = 14449]
[Option ID = 14450]
[Option ID = 14451]
[Option ID = 14452]

Following are statements related to Sample Registration System (SRS)

A. It isdual system of enumeration with annual independent survey by SRS supervisor.

B. Sample unit in rural area is a segment of village in a village with pepulation exceeding 2000,
C. Sampling unit is replaced every ten years.

D. It provides reliable estimates of fertility and mortality indicators every six months.

Cheose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3.C and D only
4 Aand Danly



A, T8 T 3R TY YU di5oR gRI Mo aod Ga&0 & 1Y S & arell 970 $1 aledl Honel &
8. T & B e gfie 2000 F SHftE SEE A 919 H W19 91 6 U6 WS o

C. TP &9 aul o Je gfAe & g e g

D. 3HY Uit ©: Ale § 594 Ud 0 &3 & (04910 49 WE ald o

e fou T faded! & & R Sw A -

1.aAA AT B
2. FFARARC
3, &ad C 3R D
4, FFAA AND

[Question ID = 3614][Question Description = 161_81_SMC_SEP22_S2_Q61]
1. 1 [Option ID = 14453]
2. 2 [Option ID = 14454]
3. 3 [Option ID = 14455]
4. 4 [Option ID = 14456]

62)
Numerator in Global Hunger Index includes-

A, Propertion of upder nourished populatian

B. Proportion of underweight under five children

C. Infant Mortality Rate

D. Under five child mertality rate

Choose the correct answer from the options given below:

1.4 and B only

2,4 Band Conly
3. A, B and D only
4. B, Cand D only

afi® 1@ GEaI® (WG ©'R so09) & sids! A FEfifed wfha 8
A, TG S9SN @1 S0

B, O a8 ¥ &5 A & o dui5 alc Sodl o] a1

C. S 5 &

D. Ui 98 U &1 A & =l &) GG &

74 fau 7Tu fashed! 3 9 w8 Sw g ;

1.aAA AT B

2. FFAA B AHRC
3, &ad A, BIARD
4, FFAE, C AR D



[Question ID = 3615][Question Description = 162_81_SMC_SEP22_S2_Q62]
1. 1 [Option ID = 14457]
2. 2 [Option ID = 14458]
3. 3 [Option ID = 14459]
4. 4 [Option ID = 14460]

63)
National Quality Assurances Standards developed to improve service quality by MOHFW have following
characteristics

A, Developed by National Health System Resource Centre

B. Applicable only for tertiary healthcare institutions

C. Have themes based on patient rights, service provision and clinical care.
D. Pricrity meant for providers to evaluate their own system.

Choose the correct answer from the options given below;

1.4, B and C only
2.B, Cand D only
3,4 Cand Donly
4. A BandDonly

RIET TUTEE SATE HRT B T A 0F U Ss 9N UGY Saiefl @ Ui @l QURA & o e
faar e &, Sua! Hafaied Geean @ ;

A, TPTE @R HER] SO 3% G 9o &

C. XA ffeepri Tar use  fafewg SEH faudl iR o1Rd 8
D. TG ATl @ f6 3o sHaw] & edic- S ©] WiE d5H &
e w0 fomed! & S W S g :

1.FAAA, B AR C
2, @aEE, C AR D
3, WaA A, CHRD
4,FIAA, B AR D

[Question ID = 3616][Question Description = 163_81_SMC_SEP22_S2_Q63]
1. 1 [Option ID = 14461]
2. 2 [Option ID = 14462]
3. 3 [Option ID = 14463]
4. 4 [Option ID = 14464]



. UNICEF encourages 4 strategies for child health by 'GOBI' campaign. ldentify correct words elaborated in
the acronym
A. Growth monitoring, Breast feeding
B, Growth screening, Infection control
C. Oral rehydration, Immunization
D. Baby friendly hospitals, OC pill

Choose the correct answer from the options given below,

1.4 and B only
2,B and Conly
3. A and Conly
4 B and D only

o 3 &1 o S & G G ST SR o 4 THTO 1 Hieliod @ ¢l TUHIER] H Sidpd el
A, TRy AR, SRE BiTET

B. A1y f&RHT, s haa deld

C. 3w REEem, FRAEEH

D. &l Wil gz, ot fie

il faw 7Te fasped| 4 9 981 IR G :

1. ad A AR B
2. FEABIARC
3, FAAA ANC
4, FIABARD

[Question ID = 3617][Question Description = 164_81_SMC_SEP22_S2_Q64]
1. 1 [Option ID = 14465]
2. 2 [Option ID = 14466]
3. 3 [Option ID = 14467]
4. 4[Option ID = 14468]



65)
In medical education, the acronym AETCOM has the fellowing words

A, Attitude

B. Ethics

C. Counselling

D. Advances in medicine

Choose the correct answer from the options given below:;

1.4 and B enly
2.B and Conly
3, Cand D only
4 Aand D anly

HfdsT= Rien 5 ug 9 are et Ted FHafeRad § | fudt iyl €
A, HYg @1

B. IR YT @I

C. WRES B

D. Sgfd3H fdP @1
I umu faead 5 € O I 9 -

1. @aT A AR B
2, FEAB AR C
3, HIAC D
4, FAA A RD

[Question ID = 3618][Question Description = 165_81_SMC_SEP22_S2_Q65]
1. 1 [Option ID = 14469]
2. 2 [Option ID = 14470]
3. 3 [Option ID = 14471]
4. 4 [Option ID = 14472]

66)
Match List | with List 1l
List | List Il
4. Anthracosis I. Hay and dust from grain
B. Farmer's lung Il. Sugarcane fibre
. Bagassosis (I, Inhalation of coal dust
D. Byssinosis IV. Cotton dust

Choose the correct answer from the options given below;

TLA-ILB-ILC-IV,D-|
2ZA-W,B-I,C-1,D-|
A-IB-LE-ILD-V
4A-1B-LC-IV,D-I



Tl - I T -1 T A DI :

EE T -1l

A TUEIgT 1. gl 9Tg 3 3 @1 4a
B. HHH & 11, 7T BT 2=

C. ST i11, BT B YT B AT
D. SiRRAIYY V. TUTE B 4T

4 fBu e fowed! H § 9gl 3w g

LA-ILB-NLC-IV, D~
2ZA-IV,B-II,C-Il,D-1|
LA-ILB-LE-ILD-IV
4A-B-LC-IV,D-1l

[Question ID = 3619][Question Description = 166_81_SMC_SEP22_S2_Q66]
1. 1 [Option ID = 14473]
2. 2 [Option ID = 14474]
3. 3 [Option ID = 14475]
4. 4 [Option ID = 14476]

67)
IMatch List | with List 11
List | List 1l
A, Tsetse fly I. Epidemic typhus
B. Louse I @ fever
. Culex mosguito 11l. Sleeping sickness
D. Soft tick V. West Nile fever

Choose the correct answer from the options given below;

TLA-LB-W,C-U,D-IV
ZA-WLB-ILC-LD-1V
3A-ILB-ULE-IV,D-]|
4A-1B-LC-IV,D-I

- -1l

A, T TR . CUETE TRH Y
B. 4@ (T3 4) I}, L BiaT

C. TEEE T (11, TR Rw-g
D. §ite fe® IV, 9% AT5d Bial
7 fGu e fawed! & 9 98 S gL

LA-LB-IV,C-1,D-1l
2ZA-WLB-ILC-LD-WIV
3LA-ILB-U,E-IV,D-]|
4A-LEB-LC-IV,D-1l

[Question ID = 3620][Question Description = 167_81_SMC_SEP22_S2_Q67]



1. 1 [Option ID = 14477]
2. 2 [Option ID = 14478]
3. 3 [Option ID = 14479]
4. 4 [Option ID = 14480]
68)
Match List | with List 1l
List | List Il
Method of refuse disposal Characteristics
A, Dumping |. Methed of choice where suitable land is not available
B. Sanitary landfill Il. Bangalore Method
C. Incineration Il Insanitary method that creates public health hazards
D. Composting IV, Most satisfactory method where suitable land is available

Choose the carrect answer from the options given below:

T.A-IV,B=-lILC-1I, B=|
ZA-IMB-ILC-LB=
LA-ILB=ULCE=IV, B =
4A-1LB-IV,C-1,D-1

Tl - I T -1 T A DI :

gl -| gl -l
grr_;}ﬂ ﬁwtﬁiﬁmﬁﬂh
: 1. SUgad Y Iu@ 9 54 R 59 faf &1 gAe
A, ST I
% ﬁgu@ﬁ?ﬂaﬁ
. 11, 7G93 UGid 9 Siaw-s Wl 952 3ad adl
C. SANREH o
i Iv. T8 Faiue SaeeHE 9 & wel Suded Y|
i IUTH BB
rd feu e el # 4 ud swgh:

TA-IVB-NLC-I, D=
ZA-IVB=-ILC-L D=1
A-ILB=NLC=IV, B=|
4A-ILB-M,C-1L,D-1

[Question ID = 3621][Question Description = 168_81_SMC_SEP22_S2_Q68]
1. 1 [Option ID = 14481]
2. 2 [Option ID = 14482]
3. 3 [Option ID = 14483]
4. 4 [Option ID = 14484]



69)
Match List | with List Il

List | List Il

A. Cervical Cancer I. Aromatic amines
B. Bladder Cancer Il. Benzene

. Hepatocellular Cancer  |lIl. Hepatitis B virus
D. Leukemias V. HPV

Choose the correct answer from the options given below:

TLA-ILB-LC-NB-IV
2ZA-WMB-ILE-IV,D-|
3A-W,B-LC-UL,D-1I
4A-1LB-ULC-IV,D-Il

i - ] Il -1l 4 gHied Bifo ;

EE = -l

A, dlal e | TRIATES THAg

B. A BT 11, S

C. THaD =g B . SUeEiey 9 aRRY
D. el (e Tem) V. T ardt

4 fBu e fowed! H § 9gl 3w g

TLA-ILB-LE-ND-IV
2ZA-ILB-ILE-IV,D-|
LA-W.B-LC-UIL,D-1
4A-1LB-IL,C-IV,D-1l

[Question ID = 3622][Question Description = 169_81_SMC_SEP22_S2_Q69]
1. 1 [Option ID = 14485]
2. 2 [Option ID = 14486]
3. 3 [Option ID = 14487]
4. 4 [Option ID = 14488]

70)
IMatch List | with List 11
List 1 List 1l
A, Epidemic typhus I. R. prowazekil
B. Endemic typhus Il R. mooseri
. Indian tick typhus . R. tsutsugamushi
D. Scrub typhus IV. R. conori

Choose the correct answer from the options given below;

TA-LB-1L,C-IMD-1
ZA-L,B-ILC-1,B-IV
LA-ILB-IV,E-LDB-1
4A-ILB-|,C-MD-WV



Tl - I T -1 T A DI :

EE =[

A UeH® e3mg I. AR, UiaTeidg
B. $510@ 2ghy I1. SR gL

c. 350 o ey 111, 3. Gt
D. %54 25hY IV. 3. BRI
74 fEu e faped! & § 98I I ghg:

LA-LB-ILE-IV, B-1
2ZA-LB-LC-1L,D-V
LA-ILB-W,C-LD-1
4A-ILB-1LC-ILDE-IV

[Question ID = 3623][Question Description = 170_81_SMC_SEP22_S2_Q70]

1. 1 [Option ID = 14489]
2. 2 [Option ID = 14490]
3. 3 [Option ID = 14491]
4. 4 [Option ID = 14492]

71)
Match List | with List 11

List 1

List I

Social Security Schemes

Funding source

A, Rastriya Swasthya Bima Yojana

I. Legislation based employer funded

B, Pradhan Manitri Suraksha Bima Yojana II. Voluntary

C. Disability Pension

IIl, States/Local bodies

D. Workmen's Compensation Act {1923) IV, Taxpayer funded

Choose the carrect answer frem the options given below:

T.A-LB-ULE-IL,D- IV
ZA-VB=IL,C-ll, B~
LA-ILB=-MC-LB=
4A-LB-LC-IV,D-I




Tl - I T -1 T A DI :

g - T -

CIEIECEGIRIEL)) (EIEEEIEG)!

A PTG T S G |, fFars snufea Faear R s
B. WU Q& FHT aie ||, Ta®

c. fagai U= 111, reE A HE HeE

D. 470® sfagld afifFmg (1e23)  |Iv. FER FAREs

+fa U e fawedl # € 98 IwgHu:

TA-LB-ILCE-IL,D- ¥
ZA-IVB=-l,C-Il, B~
ZA-ILB=-IMC-L D=
4A-HILB-1LC-IV,D-1l

[Question ID = 3624][Question Description = 171_81_SMC_SEP22_S2_Q71]

1. 1 [Option ID = 14493]
2. 2 [Option ID = 14494]
3. 3 [Option ID = 14495]
4. 4 [Option ID = 14496]

72)
Match List | with List Il

List1

List 1l

Levels of Prevention

Phase of Disease

A, Primerdial

|. Specific Causal facter present

B. Primary II. Risk factor not developed
C. Secondary Il Late stage of disease
D. Tertiary IV. Early stage of disease

Choase the carrect answer from the options given below:

T.A-ILB-,C=-IVM,B=1l
ZA-LB-1,C= L B- IV
BA-ILB-IV;C-Il, B~
4 A8-NB-ULC-1L D=1




Tl - I T -1 T A DI :

g - =T -l

RTBYH BT &R) RIT I e

A TR (TESTe) |1 ORIy oNmEs oRe ®1 Sl
B. Wufaw |1, SIfeH BRe @it 9 8

C. fedig® 111, TFT BT Fe SHaRT

0. qdra® v, IRT B HRHE HawT

rd feu e el # 4 ud swgh:

TA-ILB=1,C=-IV,B=-
ZA-LB-1LC=-LE- IV
JA-ILB-V,C-Il, B~
4A8-IMB-NLC-1L D=1

[Question ID = 3625][Question Description = 172_81_SMC_SEP22_S2_Q72]

1. 1 [Option ID = 14497]
2. 2 [Option ID = 14498]
3. 3 [Option ID = 14499]
4. 4 [Option ID = 14500]

73)
Match List | with List 1l

List1

List 1l

Disease

Period of Communicability

A, Chicken Pox

.4 days before to 5 days after appearance of rash

B. Measles 1. 1-2 days before to 4-5 days after appearance of rash
C. Mumps [1l, 7 days before-te 7 days after appearance of rash
D. Rubella I\V. 4-6 days before symptoms to 7 days after

Choase the carrect answer from the options given below:

T.A-LB-NILC-IV,D-1
ZA-ILB-LE-IL,D- IV
BA-MB=lLC-Il, B=]
4A-ILB=} €=V, D=1




Tl - I T -1 T A DI :

-| T -l
(ﬁm_ (HaRuEiE &9)
éﬁ}m e ml.aﬁnﬁﬁﬁ%ﬁsﬁ?uﬂﬁ@aﬁ‘—rmaﬁ
s %ﬂﬁﬁﬁﬁﬁﬁtﬁﬁirzﬁqmﬁ#Sﬁqm
C. TG (F759) . IFT e s 7 RAmEd Y RAIe
. T & IV, W& @ 4-6 6T 980 § 7 a7 9iG 0@
rd feu e fgmeg! ® € el S gHe:

T.A-LB-ILCE-IND-I
ZA-ILB-LE-ILD-IV
LA-INB=ILE- B=|
AA-IB-L,C=-IN. B =

[Question ID = 3626][Question Description = 173_81_SMC_SEP22_S2_Q73]
1. 1 [Option ID = 14501]
2. 2 [Option ID = 14502]
3. 3 [Option ID = 14503]
4. 4 [Option ID = 14504]

74)
Match List | with List 11

List 1 List 11

Chaisman of Health Committes
airman = o Issue addressed by Committee

A: N. Jungalwalla I. Quality of Health Services at Primary Health Centres

B. Kartar Singh II. Integration of Health Services

. lll. Maintenance phase of MNational Malaria Eradication
C. AL Mudaliar
Program

0. M S Chadha IV, Feasibility of having multipurpose workers in field

Choese the correct answer from the options given below:

T.A-LB-ILE-IL,BD-1IV
ZA-ILB-LE-IV,D-1l
LA-ILB=-M,C-LB=1
4 A-INB-1LC-LD-|



Tl - I T -1 T A DI :

EE

=l -l

(e TR & e (@ § g faw)
A, T, STEETe I, T TR Hel | e Sans & uE
8. PR e |1, ST T3 P T e
¢. TUa. TeRkER (1), BT HRGT SHE DTUTH BT S T
D. THUH. I5] v, &5 ¥ 9gI5RY DRI @ cderial
1 fgu e famed! # ¥ we s g

TLA-|LB-U,C-1,D- 1V

2.A-1ILB-1,C-V,D- Il

LA-ILB-NC-1,D-1I

4A-IV,B-1,LC-ll, B~

[Question ID = 3627][Question Description = 174_81_SMC_SEP22_S2_Q74]

1. 1 [Option ID = 14505]
2. 2 [Option ID = 14506]
3. 3 [Option ID = 14507]
4. 4 [Option ID = 14508]

75)

Match List | with List Il

List |

List 1l

A. Efficiency

I. Achieving desired result faster with lesser usage of resources

B. Effectivensss

II. Getting desired results following process of management

€. Planning

Ill. Essential to decide how to go about achieving a certain task

D). Evaluation

V. To determine how well the progress has been made towards the goals

Choose the correct answer from the options given below:

TA-LEB-ILC-LD-1IV
ZA-ILB-IL,C-1IV,D-|
3A-ILB-N, C-,D-1

4 A-WB-LC-1LD-1




Tl - I T -1 T A DI :

g -l =1 -1l

A E ﬂﬁ%ﬁwmmﬁﬁﬁﬁaﬁﬁww
B. Il. UEEH @i Uishdl & HIUIeH gRT difed GRumE g
TUEHIAl [Pl

. 111, T3 ©4T @1 U ®d @ 104 59 310 &1 e [ oh|
- g.sﬁa?rﬁﬂhmﬁﬂ%—ct:ﬂ =81 T § U @1 AR HTi
A fau e fasedl # 9 e I gy

TLA-LB-ILC-N,D-1IV
ZA-ILB-NML,C-IV,D-|
A-ILB-INV,C-1,D-1
4A-IVB-LC-1LB-N

[Question ID = 3628][Question Description = 175_81_SMC_SEP22_S2_Q75]
1. 1 [Option ID = 14509]
2. 2 [Option ID = 14510]
3. 3 [Option ID = 14511]
4. 4 [Option ID = 14512]

76)
Arranige the following as per increasing order of their Vitamin C content (in mg) per 100 grams of the
food, as given by the National Institute of Nutrition, India.

A Amla

B, Guava

C.Lime

D. Orange

Choose the correct answer from the options given below

1.ABCD
2ACDE
3.0, CAE
4 CABD



RIETY IS SR R & STUR FEiad $1 Wid 100 99 @9 5 S99 [9eiee O @1 A @) $ agd
A, Higar

B, HHEG

c.9E

D. Gadl
T Ru e 4 € W I

1.ABCD
2,8 CDE
3.0,CAB
4 CABD

[Question ID = 3629][Question Description = 176_81_SMC_SEP22_S2_Q76]
1. 1 [Option ID = 14513]
2. 2 [Option ID = 14514]
3. 3 [Option ID = 14515]
4. 4 [Option ID = 14516]

77)
Arrange the following food ftems in the increasing order of their protein content per 100 grams of the
food,

A.Egg

B, Soyabean

C. Milk

D. Sugar

Choose the correct answer from the options given below

1.C,0 A B
2B CDA
3.A,D B C
4D, CABE

Fgfarad @ uer ®f uid 100 99 @ H WiEH 91 9F1 & 96d 5 4 39 ;
A, ST

B. GrAEHT

C. gy
D. =

e fou ¢ fdmedf & 4 el SR 9 -

1.C, DA B
2.8, CD A
3.A,D.B,C
4.0,C A B



[Question ID = 3630][Question Description = 177_81_SMC_SEP22_S2_Q77]
1. 1 [Option ID = 14517]
2. 2 [Option ID = 14518]
3. 3 [Option ID = 14519]
4. 4 [Option ID = 14520]

78)
Arrange the following international agencies in the chronological order of the year in which they were
formed.

A Indian Red Cross

B, International Red Cross:

C. CARE (Cooperative for Assistance and Relief Everywhere)
D. Rockefeller Foundation

Choose the correct answer from the options given below

1.8, DA C
2ACBD
3.0,B.CA
4 C 8D A

Frafafad sioRa sifteul 1 396! W & 94 & SHR SOHAER
A BT
B, 3ETITHT 38 BId
C. T IR § @RifRies B fawy ts ide gaiiasn)
D.31&p TR BIGST
I fou ¢ fawed & 4 Wl SR g

1.8,D,A,C

2.ACBD

3.0,B,CA
4 C B DA

[Question ID = 3631][Question Description = 178_81_SMC_SEP22_S2_Q78]
1. 1 [Option ID = 14521]
2. 2 [Option ID = 14522]
3. 3 [Option ID = 14523]
4. 4 [Option ID = 14524]



79)
Arranige the causes of maternal mortality in India in decreasing arder

A, Obstructed labour

B. Abortien

C. Sepsis

D. Hemorrhage

Choose the correct answer from the options given below

1.A, DB C
2D, CBA
3.ADCE
4 A CED

YA ¥ 91 G & R0 & 95d 39 § raid Sifee
A, AR Ta

B, U@

. gfeT @)

D. TaEd

i fau e famed & S Ol W -

1.4, D, B C
20,CERB A
3.A D/CE
4 A CED

[Question ID = 3632][Question Description = 179_81_SMC_SEP22_S2_Q79]
1. 1 [Option ID = 14525]
2. 2 [Option ID = 14526]
3. 3 [Option ID = 14527]
4. 4 [Option ID = 14528]

%) Arranige the following major health events in chronological order of their launch fromy oldest to: most
recent
A, Bhore Commiittee
B, Central Births and Deaths Registration Act
C. Integrated Child Development Scheme
D. Epidemic Disease Act

Choose the correct answer from the options given below

1.ABCD
2D,CAE
3.A,D B C
4.0 4B C



Fafatay vaE e 994 9e1s @1 39 Uaaq @ g -ad | F8H09 & SaeaaN sad @i ;
A HR HHE

B, Ba1d W U4 Heg Uuiievyl Siues

C. §Hfebd g fad™ dieH

D. HEHRT I s

i g 7 faded] & & W8l 3w g9 -

1.ABCD
2.0,CA B
3.A,D.B,C
4 DA B C

[Question ID = 3633][Question Description = 180_81_SMC_SEP22_S2_Q80]
1. 1 [Option ID = 14529]
2. 2 [Option ID = 14530]
3. 3 [Option ID = 14531]
4. 4 [Option ID = 14532]

81)
Arrange the following in chronclogical erder from the oldestto the maest recent:
A, Rastriya Bal Swasthya Karyakaram

8. Child survival and safe motherhood program

C. National Rural Health Mission

D. India Newbarn Action Plan

Choose the correct answer from the options given below

1.ADCE
2B, CAD
3.ABCD
4.8 A D,C

FafEd @1 590 [ € 99 T & o0 & Sew AR 79 ;
A, TTETY &% W SEed

B. &1l Sueiigal AR e Higw eied
C. BT AT 38T 5

D. ¥Rd g9 14 Jrei]

74 TG U faed] 5 § 98l 3R 9 ;

1.ADCE
28, CAD
3.ABCD
48 ADC

[Question ID = 3634][Question Description = 181_81_SMC_SEP22_S2_Q81]
1. 1 [Option ID = 14533]



2. 2 [Option ID = 14534]
3. 3 [Option ID = 14535]
4. 4 [Option ID = 14536]

5 Luther Gulick has given eight functions of management. Five of them are given below. Arrange them in
sequence,
A, Planning
B. Organizing
C. Coordinating
D. Budgeting
E. Staffing

Choose the correct answer from the options given below

1.ABCDE
2ABEDC
3ACDEEB
4.ADCEEB

TR TfO® - HETH & 16 B/ g€ 51 394 § Uid HERiEd 81 5% eHER 18
A, Tie] ST

B. 3Tl &l

C. TG B

D. &9 &

E. ¥ &I SHg] B3]

J feu T epd F A W IR

1.ABCDE
2ABEDC
3.ACDEEB
4.AD/CEE

[Question ID = 3635][Question Description = 182_81_SMC_SEP22_S2_Q82]
1. 1 [Option ID = 14537]
2. 2 [Option ID = 14538]
3. 3 [Option ID = 14539]
4. 4 [Option ID = 14540]



83)
Arranige the steps in planning and organizing a health education program,

A, Planning

B. Communication needs assessment

C. Identifying target audience

D. Selecting the right channel to reach audience

E, Tracking clients for behavior change

Choose the correct answer from the options given below

ABCDE
B.ADEC
DG B AE
EADCE

B S T S R

e e HTEHE B Aie] 814 AR AFITed B & Fgiiad 900 &) HHHER 39
A, i 961

B. TUGU B Sa2gchal st ATHe

C. T&d 99Hg @1 Tga BT

D. T SHUHE 9@ UgdA o [T 3iad A8 &1 997 S
E, S0GBR gt B [o7g Hanadl Ot Ao 36T

e fou e fased! 7 4 1 SW T ;

ABCDE
B, A DEC
D, CEBAE
EAD CE

e T LW

[Question ID = 3636][Question Description = 183_81_SMC_SEP22_S2_Q83]
1. 1 [Option ID = 14541]
2. 2 [Option ID = 14542]
3. 3 [Option ID = 14543]
4. 4 [Option ID = 14544]



84)
Arrarige the following National Policies in chronelogical order from oldest to most recent one

A. Natignal Nutrition Policy

B. National Policy for Children

C. Naticnal Policy on Older Persons

D. National Policy for Empowerment of Wemen

Cheose the correct answer from the options given below

1.A,CBED
2BACD
3.0 B A
4D 8.AC

Fafarad IgE il @ STaeATER 999 [WH S 99 58 ¢ %4 H Said 21 ;
A, TFTE UISO Hifd

B. TET &I Aifed

C. BT Feggwi A1t

D. YT Hige GliieB Al

e ey e et 7 8 Hel ST g

1.A,C.BD
2B ACD
3.C, 0B A
4D, 8 AC

[Question ID = 3637][Question Description = 184_81_SMC_SEP22_S2_Q84]
1 [Option ID = 14545]
2 [Option ID = 14546]
3 [Option ID = 14547]
4 [Option ID = 14548]

A w N =

85)
The correct sequence of stegs in developmient of Wealth Index includes

A, Division of sample data into quintiles

B. Weighing on basis of Principle Compaonents-Analysis

C. Collect data on presence of household assets

D. Standardization of asset scores to the normal distribution curve
Cheose the correct answer fram the optians given belaw

1.ADCE
20, CABE
3.CBDA
48D A C



Hul YEdie @ [qoTy & Uil © el F J HEiad IHe & -
A, 1 S0 B 9ETES [GHeH

B. FTTUCH! b [RaIg0T O AT Uik

C. TRe] YUl 1 Sutilel 3 Sel H] Hael

D. TG R0 361 & SHR gl © W14 91 AFBim
74 T4 7 f9eped] 5 & Wel STR 4 ;

1.4, D/CE
20,CAEB
3.C, B, DA
48, DA C

[Question ID = 3638][Question Description = 185_81_SMC_SEP22_S2_Q85]
1. 1 [Option ID = 14549]
2. 2 [Option ID = 14550]
3. 3 [Option ID = 14551]
4. 4 [Option ID = 14552]

86)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Health is, on the one hand, a highly personal responsibility and on other hand, a major
public health concern

Reason R: It involves joint efforts of the whole social fabric, involving the individuals, the community and
the state to protect and promote health

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are frue but R is NOT the carrect explanation of A
3, Ais true but R is false

4 A is false but Ris true

e Gl A RUTTLE : U ) SHfipy (A) SR G & BRU (R) el T &1 o
HHBY (A) : WY U ol ol A Jalad Sualidd R gutl (D UHE Tlavi-ie Wied WIeR 4
qE gl el

@R (R) : 395 YU HISE S41a2 & S WY SiHid oid ©, W o G40 Ud Hicaled & ol g
=i, Ter ud I o] Ifea e smar gl
Sudad ByEl & e § FRifed fAed # 4 @l awm g

1..(A) 3R (R) T 961 3R (R), (A) P U6 SR B

2. (A) 3R (R) GFT T8 & TR (R), (A) T GBI 109 el
3.(A) UB1 8 TR (R) WEI TR &1

4, (A) W1 81 8 UG (R) HRI B

[Question ID = 3639][Question Description = 186_81_SMC_SEP22_S2_Q86]
1. 1 [Option ID = 14553]
2. 2 [Option ID = 14554]
3. 3 [Option ID = 14555]
4. 4 [Option ID = 14556]



87)
Given below are two statements

Statement I: National Institution for Transforming India was initiated by Government to replace the

Planning Commission.

Statement lI: it provides technical advice to the center as well as the states on designing policies and

programs.
In light of the above statements, choose the correct answer from the options given below

1, Both Statement | and Statement Il are true
2, Both Statement | and Statement |l are false
3, Statement | is true but Statemeni |l is-false
4, Statement | is false but Statement [l is true

HY - | : WHR GRI Tl AT @] WieUd @ @ [ A9 Seiede B SFgm R £1541 1 Udd-
fep|

HYT - 1) ; T U0 & GIY-T1Y &g @] Afiod] Ud SIUEH! & HHE10 & 08 qe-ie] Ee UgH &l &l
Iwad Syl & AaS § Fgieiad 9ol § 8 U8 gw I -

1. %Y | R 1 gHT T B

2. BYT | HR 1 EFT 2 B

3. BYT | T &, g A 1| ST B
4 T | HTA B, P FYE 1 99 8

[Question ID = 3640][Question Description = 187_81_SMC_SEP22_S2_Q87]
1 [Option ID = 14557]
2 [Option ID = 14558]
3 [Option ID = 14559]
4 [Option ID = 14560]

A W N =

88)
Given below are two statements

Statement I: Measurement of disability in terms of its duration is a limited concept

Statement II: Measurement of disability takes inte consideration the psychological or social aspects of an
accident or injury

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2, Baoth Statemient | and Statemenit |l are false
3. Statement | is true but Statement || is-false
4, Statement | is false but Statement [l is true



YA - | : &I BT A 39| BIaaY & Ual § U GiiHd 9ee 2

WY - || ; HEHT BT A9 (4] GUeA] HYaT die B FRigul-® HYa G HATaH] & [aaR o (o4l A
2l

IULad DYA| & Hdli® J Feicad [deedl H 4 Hal 3t 9 ;

1. @Y | AR 1 §F1 9 &

2. YA | R 1 SF1 AT B

3, PYT | 9 B, g &Y 11 3EE B
4 @Y | A B, g &Y 1 9d 8

[Question ID = 3641][Question Description = 188_81_SMC_SEP22_S2_Q88]
1. 1 [Option ID = 14561]
2. 2 [Option ID = 14562]
3. 3 [Option ID = 14563]
4. 4 [Option ID = 14564]

89)
Given below are two statements

Statement I: WHO Reference values for growth menitoring are recommended globally for children upto

5 years of age.

Statement |l: The influence of ethnic or genetic factor on children under 5 is insignificant given the

similar socic-economic environment,
In light of the above statements, choose the correct answer from the options given below

1, Both Statement | and Statement Il are true
2, Both Statement | and Statement |l are false
3, Statement | is true but Statement Il is-false
4, Statement | is false but Statement [l is true

JdclmyE fRume 8.
®YF - |- W 3% H 5 961 a® @) Y & Sl & [T 39 [d@H @I [FRA! Yg91 3% W W64 & geH
A @1 e &1 @R 5l

WY - || ; TH A 9Eia® HGE 9Nae J 5 a6 § ® 9% & g W Jeaiy 91 a1 eRel @l
WHId Hgw@qY -6l o

IULad DYA| & Hdli® J Feicad [deedl H 4 Hal 3t 9 ;

1. @Y | AR 1 §F1 9 &

2. YA | R 1 SF1 AT B

3, PYT | 9 B, g &Y 11 3EE B
4 @Y | A B, g &Y 1 9d 8

[Question ID = 3642][Question Description = 189_81_SMC_SEP22_S2_Q89]
1. 1 [Option ID = 14565]
2. 2 [Option ID = 14566]
3. 3 [Option ID = 14567]
4. 4 [Option ID = 14568]



90)
Given below are two statements

Statement I: The best age of HPV vaccine is the age of 11-12 years given in two doses separated by a
duration of 6-12 months.

Statement ll: Children starting HPV vaccination at 15 years or more are given 3 doses, The second dose
is given 1-2 menths after the first and the third 6 moriths after the second.

In light of the above statements, choose the correct answer from the options given below

1, Both Statement | and Statement Il are true
2, Both Statement | and Statement |l are false
3, Statement | is true but Statemeni |l is-false
4, Statement | is false but Statement [l is true

HYF - | - TFUIG] ] & (o0 GaaH 99 11- 1298 &, 9 6-12 HIE & a9 & &l Gud § adl o) 8l

HYT - (1 :15 T1 15 ¥ 31 310 S 531 B G U1 91 <1l ] ol U 2 Sl &1 Ugail G & 1-2 H &
TG GO G Tl Sl & AR A0 GU® g & 6 98 915 ol 91dl 8|

Iwad Syl & AaS § Fgieiad 9ol § 8 U8 gw I -

1. %Y | R 1 gHT T B

2. BYT | HR 1 EFT 2 B

3. YT | G €, foeg @Y 1| SET B
4 T | HTA B, P FYE 1 99 8

[Question ID = 3643][Question Description = 190_81_SMC_SEP22_S2_Q90]
1. 1 [Option ID = 14569]
2. 2 [Option ID = 14570]
3. 3 [Option ID = 14571]
4. 4 [Option ID = 14572]

Topic:- 081_PARTB_S2

1) In a town with mid-year population of 25,000, there were 600 live births in the year 2021. There were 20
foetal deaths between conception and birth, during the year. There were 9 babies who died within 7 days
after birth, anether 17 babies' who died between 7 days to 28 days after birth. A total of 30 babies dled
between birth to one year after birth. Another 20 children died between the age 1-5 years. Another 10
children died between the age of 5-10 years. Regular demographic surveys are carried out in the town, The
Medical Officer whe has recently joined aims to study the demography of the town by analyzing the
available data given above.

All of the following mortality indicators can be calculated from the given data, except

1. Neonatal mortality rate

2. Perinatal mortality rate

3. Infant mortality rate

4. Post-neonatal mortality rate



25000 F1 FHAYY TTEET a0 UH &ee 4, 94 2021 § 600 Sad QRS B 9 g3 98 @ G, THYRT
IRTHFI MG s g e /A s im e e, o= 11 s di oo e e 7
¥ 28 &A1 & &g GG &1 15| 5 Y TR U g i 1Y & aid el 30 R I 5 g3 9 20 9= & 1-5
¥ @ g & §/d 5 31 A2 10 S &1 g 5-10 991 @1 g & &g g3l 39 oW H Huffg vu
ST ®Tg TA&M T ot 6| Tl @R fogi- /% & FEYR J6Y 501 &, 31 9530 Suas Hies! @l
Ta=ciau] S Bed ] Sl e @ &5 Hidl o

e ofimet § Fufafad o Sisex =0 i 0 - X Jdao! &1 URdeH foal o Thdl o :

1. guld G &2

2. 9 - yeamTeA (e 9 6

3. R ag

4, 9T - OHTT (ORe Fsfieee) g o

[Question ID = 3644][Question Description = 191_81_SMC_SEP22_S2_Q91]
1. 1 [Option ID = 14573]
2. 2 [Option ID = 14574]
3. 3 [Option ID = 14575]
4. 4 [Option ID = 14576]

2) In a town with mid-year population of 25,000, there were 600 live births in the year 2021. There were 20
foetal deaths:between conception and birth, during the year. There were 9 babies who died within 7 days
after birth, another 171 babies'who died between 7 days to 28 days after birth. A total of 30 babies died
between birth to ene year after birth. Another 20 children died between the age 1-5 years. Another 10
children died between the age of 5-10 years. Regular demographic surveys are carried out in the town. The
Medical Officer whoe has recently joined aims to study the demography of the towr by analyzing the

available data given above.

Which among the following best represents the Neonatal Mortality Rate of the town for the year 2021,
considering standard formula with multiplier as 10007

1.15.0
2.183
3.333
4,86.7

25000 FI AHAYY THEGI A6 UH Hee 4, 94 2021 § 600 Sdd RN ®1 91 g3 76 & GRM, THRT
IRTErde M oogs o RNeisiggTE s A G Mo el s s 11 i s 9 e eg 7
3 28 feif & Fi9 g B 75| 779 © TP U 9 o A1 & a1d 3ol 30 R $1 gg g8 A4 20 = & 1-5
Y @ A & afd 5 8§31 A 10 Sl ®1 JG 5-10 941 @1 G & &g g3l 39 oW H HUHg 9 4
SHifhea Taam few wd o | o e ol o & SHYR 750 01 &, &1 9539 Sus el &
e B s Bl SAlo®] B AT B ¢

T @1 1000 & &Y # HF® Biad W [GaR @ik 8¢, Fefiad § 9 19 -9 94 2021 H 39 o B
Faeld §d G} @I HaraH ol ¥ a¥idl 6 7

1.15.0
2.18.3
3.333
4. 667

[Question ID = 3645][Question Description = 192_81_SMC_SEP22_S2_Q92]
1. 1 [Option ID = 14577]
2. 2 [Option ID = 14578]
3. 3 [Option ID = 14579]



4. 4 [Option ID = 14580]

3) In a tewn with mid-year population of 25,000, there were 600 live births'in the year 2021. There were 20
foetal deaths: between conception and birth, during the year. There were 9 babies who died within 7 days
after birth, another 11 babies who died between 7 days to 28 days after birth. A total of 30 babies died
between birth to one year after birth. Another 20 children died between the age 1-3 years. Another 10
children died between the age of 5-10 years. Regular demographic surveys are carried out in the town, The
Medical Officer whe has recently joined aims to study the demography of the town by analyzing the

available data given above.

All of the following indicators have ‘total live births in the same year' as the denominator; except

1. Child mertality rate (1-4 year mortality rate)
2. Infant mortality rate

3. Neonatal mortality rate

4. Under-5 mortality rate

25000 1 FEFHY SHIE a0 U & H, 94 2021 § 600 SHfad Rl &1 9 g1 o¥ & gRE, TR
ARTH P ad THH 2050 53| o R Sl g o & 7 GAl & HidR 81 715, o9 11 RS @I ST b aig 7
¥ 28 fof & &9 Jg 51 75| 574 Y THR U a6 I g & did Do 30 Y B GG g3l g 20 9= & 1-5
T ®1 ¥ & a9 9 g3l 4 10 I $1 g 5-10 99 @1 A & a9 g3l o0 oW | Huhg ©9 9
SHifR® g GasT e o ¢ ) Ffde sfuer) e e 3 SHYR 981 01 &, &1 9axy Suas Hids! &l
T=eTa0] s T Pl FHlbd] B AT Bl g

=0 glgmy, Fafiad ol doae v el d ga diidd o et ey d e

1. EA G G (1-4 W HI )
2 R ™

3. Faefd A o

4.5 Y BA D TG R

[Question ID = 3646][Question Description = 193_81_SMC_SEP22_S2_Q93]
1. 1 [Option ID = 14581]
2. 2 [Option ID = 14582]
3. 3 [Option ID = 14583]
4. 4 [Option ID = 14584]

4) In a town with mid-year population of 25,000, there were 600 live births in the year 2021. There were 20
foetal deaths: between conception and birth, during the year. There were 9 babies who died within 7 days
after birth, another 11 babies who died between 7 days to 28 days after birth. A total of 30 babies died
between birth to one year after birth. Another 20 children died between the age 1-3 years. Another 10
children died between the age of 5-10 years. Regular demographic surveys are carried out in the town, The
Medical Officer whe has recently joined aims to study the demography of the town by analyzing the

available data given above.

Which among the following best represents the Infant Mortality Rate of the town for the year 2021,
considering standard formula with multiplier as* 10007

1.33.3
2,500
3.66.7
4.150.0



25000 F1 FHAYY TTEET a0 UH &ee 4, 94 2021 § 600 Sad QRS B 9 g3 98 @ G, THYRT
IRTHFI MG s g e /A s im e e, o= 11 s di oo e e 7
¥ 28 &A1 & &g GG &1 15| 5 Y TR U g i 1Y & aid el 30 R I 5 g3 9 20 9= & 1-5
¥ @ g & §/d 5 31 A2 10 S &1 g 5-10 991 @1 g & &g g3l 39 oW H Huffg vu
ST ®Tg TA&M T ot 6| Tl @R fogi- /% & FEYR J6Y 501 &, 31 9530 Suas Hies! @l
Ta=ciau] S Bed ] Sl e @ &5 Hidl o

T0E & €0 F 1000 & HHE BHG WG9 oid g0 FEiied § € aF-arad 2021 & AU 39 o &
Ry R o eea e d cafare

1.33.3
2.50.0
3.86.7
4. 150.0

[Question ID = 3647][Question Description = 194_81_SMC_SEP22_S2_Q94]
1. 1 [Option ID = 14585]
2. 2 [Option ID = 14586]
3. 3 [Option ID = 14587]
4. 4 [Option ID = 14588]

5) In a tewn with mid-year population ef 25,000, there were 600 live births'in the year 2021. There were 20

foetal deaths:between conception and birth, during the year. There were 9 babies who died within 7 days
after birth, another 17 babies'who died between 7 days to 28 days after birth. A total of 30 babies died
between birth to one year after birth. Another 20 children died between the age 1-5 years. Another 10
children died between the age of 5-10 years. Regular demographic surveys are carried out in the town, The
Medical Officer who has recently joined aims to study the demography of the town by analyzing the
available data given above.

The calculation of the Child Survival Index (Child Survival Rate) requires which of the following as part of

the numerator, in it's calculation?

1. Child mortality rate (1-4 year mortality rate)
2. Infant mortality rate

3. Neonatal mortality rate

4. Under-5 martality rate

25000 F1 FHAYY TTEET a0 UH &ee 4, 94 2021 § 600 Sad QRS B 9 g3 98 @ G, THYRT
IRTHFI MG s g e /A s im e e, o= 11 s di oo e e 7
¥ 28 &A1 & &g GG &1 15| 5 Y TR U g i 1Y & aid el 30 R I 5 g3 9 20 9= & 1-5
¥ @ g & §/d 5 31 A2 10 S &1 g 5-10 991 @1 g & &g g3l 39 oW H Huffg vu
ST ®Tg TA&M T ot 6| Tl @R fogi- /% & FEYR J6Y 501 &, 31 9530 Suas Hies! @l
Ta=ciau] S Bed ] Sl e @ &5 Hidl o

16 JORGliad] Yahid (e Iudaligdl GX) DI TUET & [0 FEEREd 5 H 19 SHG! T0HT H S8 BT 4R
g s ?

1. 910 g &1 (1-4 T4 A B g &)
2 mag = '

3. 9ad Jg X

4598 T BT A B GG &

[Question ID = 3648][Question Description = 195_81_SMC_SEP22_S2_Q95]
1. 1 [Option ID = 14589]
2. 2 [Option ID = 14590]



3. 3 [Option ID = 14591]
4. 4 [Option ID = 14592]

Topic:- 081_PARTC_S2

1) Inyestigation X' is carried out as a screening test in a population and chservations compared to

confirmatorytest 'Y are presented in following table

Test’X'
Total
Positive Negative
Positive s00 200 1000
Test 'Y
Negative 1200 7800 8000
Total 2000 8000 10000

The time interval between the first possible time that a disease can be detected and the usual time of
diagnosis of the disease is called

1. Screening time
2. Lead time

3. Generation time
4, Serial interval

fdl gafy & Wi &% & ®U § Uy X 59 9l § SR Uuff W oiiem v & goa § oide
fFrafaiad it § wed e o & -

TTE X
orerea | mRa | o
S ulisied 800 200 1000
' e 1200 7800 9000
Pa 2000 8000 10,000

vud Yyifad 999 ogd I &1 Udl @l I 954l 8 R 99 W @ HaH & 99 999 & aig @)
GHUaUd Sel idl &

1. BDIT HHY
2. Tl TRy

3. S EeH
4 g A

[Question ID = 3649][Question Description = 196_81_SMC_SEP22_S2_Q96]
1. 1 [Option ID = 14593]
2. 2 [Option ID = 14594]
3. 3 [Option ID = 14595]
4. 4 [Option ID = 14596]



2) Investigation X' is carried out as a screening test in a

confirmatorytest 'Y are presented in following table

TestX'
Total
Positive Negative
Positive s00 200 1000
Test 'Y
Negative 1200 7800 8000
Total 2000 8000 10000

A disease is suitable for screening if it fulfils all of the following criteria, EXCEPT ONE:

1. There should be an effective treatment available
2. Case fatality rate should be very high
3. There should be a recognizable latent stage

4. Merhidity and mertality should be reduced by early detection and treatment

fdt oafy & @it &% & ®u ¥ ofFauy x 501 ol € IR Uuff we wiiem v @ gaa # ofide

Hafofag afte 3 v P o & -
LA X
oreea | mRs | o
S RIS 800 200 1000
' e 1200 7300 9000
P 2000 8000 10,000

P U S & oY UGS & O7% 9% UF &) SISed uiad wi AiesT o) [ e e

1. Wi SRR UG B 9T
2. TN el o1 dgd AP B FIfge

3. U590 &4 470 Ussd 93u o+ difed

4, R =0l H € T &1 U] SR SUER SR S0] SR Bl &1 o fhay 9 3iey

[Question ID = 3650][Question Description = 197_81_SMC_SEP22_S2_Q97]

1. 1 [Option ID = 14597]
2. 2 [Option ID = 14598]
3. 3 [Option ID = 14599]
4. 4 [Option ID = 14600]

population and cbservations compared to




3) Investigation X is carried out as a scresning test in a population and chservations compared to
confirmatorytest 'Y are presented in following table

Test'X’
Total
Positive Negative
Positive 800 200 1000
Test'Y!
Negative 1200 7800 9000
Total 2000 8000 10000

Choose the correct statements
A Sensitivity of test X' is 80% and specificity is above 85%.
B. Sensitivity of test X" is 40% and specificity Is above 95%.

C. Fortest X', predictive value of a positive test is 40% and predictive value of a negative test is above
95%.

E. For test "X, predictive value of a positive test is 80% and predictive value of a negative test is above
85%.

Choose the correct answer from the options given below:

1.4 and B only
2.B and Conly
3. A and Conly
4.B antl D only

el wafe & S 2w & U A oFww x b W § R 9 W olem v F g 7 e
Frafeiad it 3 wege e e § -

LA X _
oreea | mRs | o
S RIS 800 200 1000
' e 1200 7300 9000
P 2000 8000 10,000
BT HYH] B g9 DI :

A TS X 1 Hafadl 80% © AR [ARIFdar 85% 4 A¥@ &
B. T8I0 ‘X’ @] Hafaar 40% & ik fafdpar 95% ¥ ot &
C. Tfiemn X' & g uifefed o &1 urlfaas 5 40% & 3R Filfed o &1 urlfdas a1 05% 3 s &
D. BRI % & Tomu gifeied e @1 Unlfad O 80% & IR [Hilfed o &1 URlaa® 0 85% ¥ e §
el feu 71 fadedl & 9 wel S 2 :

1.5ad A AN B

2. Had B3R C

3. HadAFRC

4. FIAR ARD

[Question ID = 3651][Question Description = 198_81_SMC_SEP22_S2_Q98]
1. 1 [Option ID = 14601]



2. 2 [Option ID = 14602]
3. 3 [Option ID = 14603]
4. 4 [Option ID = 14604]

4) Investigation X' is carried out as a screening test in a population and chservations compared to

confirmatorytest 'Y are presented in following table

Test'X'
= z Total
Positive Negative
. Positive 800 200 1000
Test'Y' :
Negative 1200 7800 8000
Total 2000 8000 10000

The most cost-effective screening amengst the following is

1. Mass screening

2. Selective screening

3. Multiphasic screening
4. Periedic screening

5 Tafp & @i 3w & $u § 3rauy ) 59 o § 3R 94U W wiem v $1 o B e
Frgfafad diftme § ved fPewd & -

TR X
oeRa | mRa | o
i uieied 300 200 1000
' ffea 1200 7800 9000
oa 2000 8000 10,000
Frafafes 4 © gaifus o uyE S e -

1. SEHB® Sl
2. IS SR
3. SEHTRT GBI
4, Falts i

[Question ID = 3652][Question Description = 199_81_SMC_SEP22_S2_Q99]
1. 1 [Option ID = 14605]
2. 2 [Option ID = 14606]
3. 3 [Option ID = 14607]
4. 4 [Option ID = 14608]



5) Investigation X' is carried out as a scresning test in a population and chservations compared to

confirmatorytest 'Y are presented in following table

Test’X'
Total
Positive Negative
Positive s00 200 1000
Test 'Y
Negative 1200 7800 8000
Total 2000 8000 10000

Yield of test 'X" will depend on all of the following, EXCEPT ONE

1. Prevaience of disease
2. Participation of people
3. Sensitivity of the test
4, Precision of test

5 Tafp & @i 3w & $u § 3rauy ) 59 o § 3R 94U W wiem v $1 o B e

PeffEg e drad e ee & -
peit- i B
e | m | o
i uieied 300 200 1000
' frifea 1200 7800 9000
Pa 2000 8000 10,000
T x o oo [@its) TF & Sie®e Hgiaiad 94 W R aan
1. I & O
2. T @1 we M
3. TIE0 &) G4
4, THI&0 B et

[Question ID = 3653][Question Description = 200_81_SMC_SEP22_S2_Q100]

1. 1 [Option ID = 14609]
2. 2 [Option ID = 14610]
3. 3 [Option ID = 14611]
4. 4 [Option ID = 14612]

Topic:- 22 GP_29SEPT22_SH1_S2_A



1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries: (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vi Types Of Batteries Sold (in thousands)
4AH TAH 32AH 35AH 55AH

2015 |75 144 114 102 108
2016 90 126 102 24 126
2017 (96 114 75 105 135
2018 |105 80 150 80 75
2012 90 75 135 75 an
2020 (105 60 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 35AH batteries in 2027 compared 1o that
in 20157

1.28 %
231 %
.33 %
4,34 %

fafeRaa aferer & a4 2015 & 2021 90 & SRIF TH DUAT gRT [A@1 Dt 78 [QAFHT TPR I qchal
(BYIR ®) & 3wt - eies fAw v &1 50 aiftreT & siws! & YR W) U= Uyl & Swv difere -

Sciigl @1 a8 - ar oWl
o T &1 713 Sl & UK (B9R 1)
4TUWH | 7UUH | 3280d | 35T | 550 TEH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2010 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

2015 ®1 goiAT H 2021 9 55 U UG 92! B faml J e uiowd ais s i 2

3

1.28 9
2.31
3.33
4.34¢

33‘ Y

3

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_QO01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]



4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH

afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 91 | 715 920l & UPK (F9R 5)
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

i O a1 | o0 UeR @1 S 91 oo faw] gana® U 7

1.490d
27009
3,329
4,358

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]



3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures af five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Goar Types Of Batteries Scld (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (90 126 102 a4 126
2017 156 114 75 105 135
2018  |105 30 150 90 75
2012 190 75 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

What is the difference in the number of 35AH batteriesseld in 2016 and 20207

1..24000
2..28000
3. 35000
4.38000

FafeRas aferer & a9 2015 & 2021 90 & RIE TH DUAT gRT G0 D T8 [QIHT TPR T qchal
(@R ®) & 3t - aws fAw v &1 53 aiftreT & siws! & YR W U= Uyl & SR difere -

eyl @ 99 - ar 61 :
= fashl @1 713 S2l & JBR (F9R )
40U | 7UTH | 3200 | 35U UG | 55 UTH

2005 | 75 | 144 | 114 | 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 | 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 | 75 135 75 a0
2020 | 105 | 60 165 45 120
2021 | 115 | 85 160 | 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2..28000
3. 35000
4.39000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]



2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]

4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

The percentage of 4AH batteries sold in a given year to the total number of batteries sold in that same
year was maximum in the yearn

1.2017
2.2018
3.2019
42020

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

] &1 715 Scidl & UK (89K 1)
AUW (7YY | 320 Ud | 350U (550
2015 | 75 | 144 | 114 102 108

a

2016 a0 126 102 a4 126
2017 56 114 75 105 135
2018 105 20 150 a0 75
2019 g0 15 135 Ta a0
2020 105 &0 165 45 120

2021 115 85 160 100 145

ol few e ad & Qi @ 5! @) oo ve & oy 9dl ay a1 &1 711 4 T Tg sl @ uiowe e
ay 3 41 7

1.2017
2.2078
3.2818
42020



[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]

5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 75 S0
2020 105 &0 165 45 120
2021  |115 85 160 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1. 4AH
2. TAH
3.32AH
4. 358H



afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 991 ®1 5 92l & oK (goR )
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

ad 2015 ¥ 2020 9@ 5 UHR B 9o @ {9t & ¥y fge gt 7

1.400
2700
3.320Tg
435009

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]
3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learming
more personalised and customised, as per requirements of the learners?

1. NEAT
2. NEET
3, SWAYAM
4, SWAYAN PRABHA

nen HETeE, YRd TR B BH U1 gioq Rl 31 arevgsas & ouRr YT 51 AU ufde
3R Tognlf srma o7 & O SHE giar @ Wi #d 8 7

1.EgLE

2EE4

3. TGH (SWAYAM )

4 IG4H UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]



2)
Upon completion of academic programmes (Graduation), what outcomes should the students have

attained?

1. Programme Education Objectives/ Programme oufcomes
2, Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomies

SPET® SHpH! (W) & I & W, faenfial w1 @ ufos ua g 91te 7

1. DD & 3630 / BIUHH TRoTH
2. 913 UiRoms

3. UTauwH 9RO

4, gy s Ui

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_QO07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]

3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking guestions can create curiosity and develop passion far learning.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are carrect and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4 A is not correct but R iscorrect

Fas Ty GuIN g o o] AT (4) IR T $1 ORI (R) T A 8
HBUA (a) : e o1 ol o v U84 & o Uieiied &A1 9ife Ul

BRI (R) ; 1% TS © formma gfor il & iR AT & forg e o iad gl g
IUUT HYH! B D H Faiied [deedl H§ U HE SR 9 ;

1. (A) 3R (R) THI T8I € 3R (R), (A) P el ARHT 81

2. (A) 3R (R) GFT TE1 & TR (R), (A) T GBT 18T el
3. (A) WBl & IR (R) Wel Tei &

4. (A) W1 781 & TR (R) TRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]



4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]

5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,
. Upto 30% or 3 minutes, whichever is less,

Ju5 LD PO -

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

L 10% °®, 91 3 e, @ W wa gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect



v el ity & faud! & ogaeR # giad 91 QUR TS 35191 § URadT & R T8 8l &, af 99
Fel Wl & -

1. 81YH wHE

2,75 UdE

3, fPER UyIE

4 PRGTR UHIG

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]

7)
The advantages of research based on field experiments are:

A, A strong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEanly

& TERTl OR SR DY & A E -

A, T g §1al 9yl |

8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l

D. UHiH® Hiws| @l go- |

E, forga HR-0F @1 Saxgedl T8l eidl|

i fou e fawed! & @ 8 oW A -

1.@aAA, B ARC
2, FaAE, C AR D
3, WIAC, D ARE
4, FAAA CARE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]



8)
Hiypothesis, that is alternative to null hypothesis, is represented as

1. Hp
2.Hy
3. Ha
4. H

gitee, S X GREeal 6 faded o, @] X191 9l &
1
2
3. Han
4

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1. 1 [Option ID = 17541]
2. 2 [Option ID = 17542]
3. 3 [Option ID = 17543]
4. 4 [Option ID = 17544]

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracis and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T &8 7

1. 93 T 9Y 99X ®e @1 Qideaiy

2, SeTeY forgd Fige ufieiel & 9K Td Sev el &
3, INY 3R @y & foqume & fog sy

4, Fiel® aR] ) o9 ® ael Giieai

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1. 1 [Option ID = 17545]
2. 2 [Option ID = 17546]
3. 3 [Option ID = 17547]
4. 4 [Option ID = 17548]

10)
The Social Science research which is data-based, has been asscociated with

1. Autheritarian made
2, Positivist philosophy
3, Network theory
4 Phenomenology



gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. UT&aE] 53
3, Jead g

4, T2gUeH] oy

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1 [Option ID = 17549]
2 [Option ID = 17550]
3 [Option ID = 17551]
4 [Option ID = 17552]

A w N =

11)
The modern-communication revolution is propelled by

1. Cold war propaganda

2, International commerce

3, Techniological convergence
4, Change in palitical systems

YA Ty i s g1 JaRa g 2

1, 2 9= @1 wideret

2, RIPE qifvred

3, g SR

4, Treifam wunel § 9iiady

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learning

C. Minimal assessment

D. Interaction between teachers and students

E, Teacher-centric behaviour

Choose the correct answer from the options given below:

1.4 Band C only
2.B,C, DandE only
3.C, Dand Eonly
4, A BandDonly



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | W) &, g @y I Taa Bl
4, YT 1 T4 & , fooq ®YA 1| GEl B

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2.0.002
3.0.02

4, 0.00002

W4 0,07 @ 350 ° YT fohar Sa i &91 5 Ui g 7

1..0.0002
2.0.002
3.0.02
4,0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4 [Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3—[

2.15% % &
2

3. 163% gl

4,98, Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1.(A) 3R (R) BT 9 & 3R (R), (A) T TR RBT 1

2. (A) 3R (R) ST G € 93 (R), (A) B el 010 T 6
3, (A) T & O3 (R) S0 &

4. (A) 5T 8 U (R) A B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

A W N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
A ARHHBH

B. HISieey

C.9ig e

D. &P

£ emam

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
4, FIAA, B, C IR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4[Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %



N B1a © Yed O aay | Bla- sasiadies Gigdl | Giowid ais T g :

1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

AN w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
ﬁ (R) : TETES Fafee® g ¥ 3iaft® ged 39 IR 6 913 gafded fggd Ides uone aFf
|
Iulad DYH| & HTI® 5 FHidd e 3 § T8l S g ;
1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct



TY - | HBelS g5 b Bige YAy ar EH T TN, BF G- 5 B TEeaed §9H au] [SEed
T H W& B a9 50% $ioe, (57 & ard gwa) (R4 Her &l

FYT - 1) : T3 gRT HIoe @B ITAN a3 T HYdT 34 R $¢ o & 916 96T Judn fed] 3 u=ie
J5%0 YT B4 O B & (08 el (pg] = Godl 6|

Iulad HYEl & AP 8 FRfiad e § ¥ 9ed 3uded 3R 9 -

1. BT | 3R || ST S §
2. BYF 1 3R || SET T B |
3. @Y 1 Hel &, [ 4 11 TTEd 8
4Ty | TTea &, g Y 1 9T &

[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga

£, Sierarg uftad Tl SOl 9ya
e fou e fased! 7 4 1 SW T ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | el o, [ @9 11 TTEd 81
4, YT 1 T4 & , fobq YA 1| G818

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups
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3. ST @1 U@ HaeR
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[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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[Question ID = 4420][Question Description = 147_81_GP6_SEP22_S2_Q47]
1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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